	CIS 2168 - 2 Quiz #6

	Name:


	


	Q1: (5 points) A binary tree consists of nodes containing the value (=the data stored in the node) and two links to the children, LeftChild and RightChild. The root of the tree is a reference to the root-node. Write pseudo code to print the value of the rightmost leaf in such a tree. Get a bonus point for a recursive solution!


	Q2: (4 points)

Traverse the following Expression Tree in inorder and postorder:
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Inorder:

Postorder:



	Q3 (1 point): 
Evaluate the tree of Q2 (what’s the expression’s value ?)
Result: 
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